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1 Fläche: 
4,7386 
Umfang: 

= 9,06m 
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Pofest, Höhe 0,09m 
Nicht betretbar 

Fläche: = 8,0136 m 
Umfang:= 11174m 
Höhe: = 3,62m 

r Fläche:=J 
Urnfang:= b.54m 

Höhe: z 	3,71 m 

Flache: = 24,1500 m' 
Umfang: = 20,83 m 
Höhe: = 	3,71 m 

Fläche:= 38,4 n?
Umfang:= 36,14m 
Höhe: 	3.71 m 
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Fläche: =23,4m 
Umfang: = 19.83 rn 
Höhe: = 	3,71 m 

Räche: = 22,9291 nf 
Umfang:= 19.46m 
Höhe: = 	3,71 m 

Fläche: = 20,8393 m 
Umfang: = 19,83 m 
Höhe: = 	3,71 rn 
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Fläche: z 170126 m 
Umfang: = 16.50m 
Höhe: = 	3,71 rn 
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Fläche: = 9,7812 nF 
Umfang: = 13,O4rn 
Höhe: = 	3.71 m 

Flache: = 33,4743 rrF 
UmfaOg: = 43,32 m 
Höhe: = 	3,71 m 
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